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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an

assignment. This increases his/her learning engagement. / Th B Gal GR:ITE'EIE
R HIH & foreg 3% /3Ta! o1 & 15 ifte A 9 81 98 S9%
fRrTH &1 # gfeg Bar 21

1. Intellectual /aﬁm
2. Behavioural/ gdgiR

3. Emotional /HIdh
4. Social / ATETSIH

Correct Answer :-

« Intellectual /W

2) ADHD children have difficulties in which of the following areas? /

FrofifE § A f5a &7 § wSiuad) 9= ) sfearE a1 872
1. All of the above / SUgad Tt
2. Attention onIy/W ‘r'm:f%:ﬂ

3. Hyperactivity only / Had 3 gihaal

4. Impulse control only / FHad ST

Correct Answer :-

o All of the above /E'Cl'iiﬁ?f'ﬂﬁ-ﬁ

3) In an intelligence test a 9 years old boy is found to have mental age of 10 years , he belongs

to the IQ classification of . [ TD ﬁ Teor § Uh 9 I¥ & m & AARTS
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Y 10 9 UTg 9l B, 98 & TSR TP § Hafed gl
1. Superior / 95 (JUIRAR)

2. Average / 3d

3. Genius / UTTHTRITT (SHIFE)

4. Slow learner / HGUTG] (@ ('1"(I‘Q)

Correct Answer :-

« Average / 3?]14?[

4) Which theory of development also focuses on social interactions in development? / ﬁ?ﬂ?

&1 Hi-u1 Ricgia, faer & wranfre dddt wr ot e $fea wwar g2
1. Vygotsky / a’@ﬂ?&ﬁ

2. Piaget / TURTS!

3. Freud / IS

4, Kohlberg/ ﬁ@ﬁﬁ

Correct Answer :-

« Vygotsky / CIEUIRSE]

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one

of the following creative abilities in students? / BJEL B DET | @% | Urq & IUANT B
THlag $1 & T 81 U e &Y a8 wiwq § eg S % ol # Fafeafad &
A BIF-A} TATHS & 22

1. Flexibility / TITQT

2. Originality / ﬁfﬁﬁb_cﬂ
3. Elaboration /ﬁﬁ?
4. Fluency / Ydlg

Correct Answer :-

o Fluency /Ydlg

6) The movement in Maslow’s Hierarchy of needs should be from / ARl & UM &
USTIhH H STaRae® Tfd gi-l d1igt-

1. Love and belonging to Physiological needs / IR 3R T & ISR ATl dh

2. Self- actualization to Physiological needs / STH-[IZCATT T IS SMTaRgHhdl adb
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3. Safety needs to Self-actualization / GI&T STIIDH T I HTH fdTAT dh
4. Physiological needs to Self —actualization / TTHING Tagehdl ¥ 3TH Rfg d&

Correct Answer :-

. Physiological needs to Self —actualization / TS 3aRIdhdl 4 31 i &

7) Select the quality that is needed for a counselor. / wRRferar a?ﬁ'ﬂ! 3MaRg® fa=vdr &1
ERE L]

1. being judgmental/ BILIRED Kl

2. being arrogant / ST @W

3. being empathetic / ﬂ%"lﬂ‘lﬂ%{ R gl

4. being defensive / X&THD E;"HT

Correct Answer :-

« being empathetic / “EI_E:'H'J-‘[% TR BT

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol

during pregnancy?/Wﬂm%aﬂqtﬁﬁa@Wﬁwaﬂwm%ﬁﬁ
R & 71 THa 19 B HUIGHT 82

1. Prenatal retardation / Ud q\é Hedl

2. Fetal withdrawal syndrome / YUl CIER| ﬁl@q

3. Fetal alcohol syndrome / YUT Hel ﬁl@q

4. Perinatal alcohol syndrome / A Te A RigA

Correct Answer :-

« Fetal alcohol syndrome / Y01 T g

9) What strategy should a teacher use in a situation when the student is being impolite? /

B & I5S 8l o1 9 AT & v Rierew &1 fa o &1 Suai w=-1 aifge?
1. Punishment / G8

2. Remind the student of classroom norms / H&T FTHl &1 B d1 A1E fam

3. Argue with the student / ST o 1Y d1G-faarg A1

4, Express shock / 3Mefaferd B ol

Correct Answer :-
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o Remind the student of classroom norms / P&T IGREIEARIEIK dlq léa [T

10) What is the term given to describe the conditioned stimulus before classical conditioning

occurs? / TS T ST 514 I Tgel ST ST BT UM P31 P fog Hi-41
g femr man 82

1. Natural stimulus / TTh{cds ST

2. Unconditioned stimulus / 3Jd BEESEE]
3. General stimulus / THTRT 3o
4, Neutral stimulus / T TS

Correct Answer :-

« Neutral stimulus / TE& IS

11) What is the set of linguistic rules that govern the use of language for communication
called? / HTHTS FrAH FT 98 HIH-IT TH=I € Sl TR & 1€ HTen & vt &t frifya
AT 57

1. Grammar / [P U]

2. Phonemes / W-H

3. Pragmatics / SUAINIATAIG
4, Syntax / Al fasm=

Correct Answer :-

« Pragmatics / ST

12) By the age of six months, infants are able to do the following, except ./ 9 ﬂ'&ﬂﬁ

Y 3mg a, Ry Rrama ¥R s daeagasl

1. Babbling / dcIT-T
2. Crawling/aﬁ & I I (SPITCIT)

3. Sit up / 93
4. Eat solids / 3G uerd JHEr

Correct Answer :-

. Crawling / Ud & &d IHT (SPICIT)
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When social beliefs are transferred from one generation to another, it becomes part of: / SId

Wm%maﬁﬁwmﬁﬁmtﬁaﬁﬁwﬁmhamm%ﬁwm%w
CEACIGIES

1. Transmission of culture / Wﬁ‘f CARERU
2. Social mobility / FTHISTE TfaRNeTd

3. Social change / rAToTes URdc

4, Individual development / T fder

Correct Answer :-

+ Transmission of culture / Wﬁf T HERT

14) Personality is measured based on approach./ fdid di @I
& SMYR U [T ST & |

1. Ideographic/ FATER fawge (Hlé%ﬁ[ PIED)
2. Socio-radical / Wm-m?-ﬁ

3. Surface-radical/ ﬂﬁfﬁ—mzﬁ

4. Nomothetic/ FoHTs U™ (:hﬁr a_ﬁﬁ

Correct Answer :-

« Nomothetic/ AT IUNTH (FHIAEH)

15) In which of Piaget’s 4 development stages is object permanence developed? / T & 4

e et o @ o sawut # avg wiTfia fawa gidl 32
1. Formal Operations / M=nie dfgpards

2. Concrete Operational / H\T‘TW

3. Preoperational / Uj JichaTb

4. Sensorimotor / 38 THA

Correct Answer :-

« Sensorimotor / 3 SId

16) Piaget’s Pre-operational stage is from . / Torars @5t Qﬁ-m STARYT
gl

1.7-11 years/7-1laﬁ
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2. 11 years and above / 11 atfqa' 3feH
3.2 -7 years [ 2-7 GL
4.0 -2 years / 0-2 GL

Correct Answer :-

. 2—7years/2—7<—3|'5f

17) Who said, An intelligence is a “biopsychological potential to process information in
certain ways in order to solve problems or create products that are valued in at least one

culture or commumty” W Dol _g:@'l:ﬁﬂ FFRIITG?[ Ga| ed aﬂﬁ' gl vH '\ﬁ' DPHUD
TEpfa aT TG § Yeudd ITel B 99 & O 8 aiid! A SR & Sufd
oI & g S uqﬁwﬁﬁ gaargl”

1. Gardner/ MSR

2. Willingham/ fafeTRH

3. Callahan/B e

4, Sattler/ @E\Fﬂ

Correct Answer :-

o Gardner/ T |Ié'_'lq

18) According to Psychosexual developmental theory, failure to successfully complete a

particular stage would result in: / mﬁ?rﬁw faema ﬁl?s{l_r[ & SR, Uh a2y 0T G3|
AHAAIYAP T B § A adr & URUMIEa=Y givm:

1. Fixation / TSI ({therim)
2. Libido / STHIISIT

3. Electra complex / Qﬁ?ﬁjn:htrf@r
4. Oedipus complex / 3NTSTT U

Correct Answer :-

. Fixation / TRRIHRUT (fhawH)

19) By what age are children likely to make friends? / T 3% T AT NS TP
BId 82

1. Four years /Eﬂ?aﬁf
2. Three years / GIEEL
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3. One year/wa'ﬁf
4. Two years / aray

Correct Answer :-

« Three years / GIBECL

20) is the main determinant of cognitive development and learning. /

AT [T 3R e &1 g1 Frufe 21
1. Values / eﬁﬁma

2. Beliefs / HI-dT

3, Principles / RIgid

4. Culture / Wﬁf

Correct Answer :-

+ Culture / ﬂ@ﬁf

21) If a child has difficulty putting words down on paper, it may be due to a learning
disability. The best instructional strategy to implement in a classroom to support children

who struggle with writing would be to: / gfe fredl o= o1 Weal B FRS R for@ A
HISATS Bl 8, Y I8 STRATH 3I&MHdT & BRI B IHdl 8| AW & 1Y JgY He 9rdl
ﬁmmﬁﬁw%m$wﬁmmﬁ%§mwmwﬁﬁ

1. Provide more time on task/ WW 3feIH JHY Ul dhe-]

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ d-i-

3T9-9 TETIdT UTd B P ol TO1eH hef § Ay B! faxanid 3afd Ue &

3. Provide peer tutoring during writing time/ ARG THT & SR T H! SR UG BT

4, Provide detailed directions and graphic organizers to help with structure./ T & 1Y Heg

HRA & fore faega e Sik Wthes SRS UaM &l

Correct Answer :-

« Provide detailed directions and graphic organizers to help with structure./ TR & I Hag

FRA & fore favga e Sik Mithes SMitsTe UaM &

22) The variable that the scientific investigator changes or manipulates is called:/ 98 dX

o e 3au® IGadl & I1 X HIdT g, I8 HeT oITdl 8:
1. independent variable/ ESRECH
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2. responding variable/ e =R
3. Control/ TTH
4. dependent variable/ T TR

Correct Answer :-

« independent variable/ T3 T

23) The mental networks that children form in their mind is known as: / g %ﬁTIT‘T |

1 9T ATFRIS Aedd &1 59 ©U § ST 91T 8
1. Impulses / 3M1aT (3U<H)

2. Archetypes / 3ITER=Y (3MTfeTg)

3, Maps / 1T (A1)

4. Schemas / TP U (b 1HT)

Correct Answer :-

o Schemas /uﬁm‘—n (Eﬂﬂ'l)

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

UTqdId & FARID A DSIRT & TN § HIF-HT STHaR AT UT?

1. Dog / 'l
2. Pigeon / PR
3. Rabbit / TR

4, Rat / gl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a

sense of competence? / TREIT & AATHINTS [9HTH & fHa TRor § ufeaifRar &t yra=n
31 famra gftfa gar g2

1. Autonomy vs. shame / ST d-TH Il

2. Industry vs. inferiority / SENT g SEGl
3. Generativity vs. stagnation / SIH-IHb dl d-H fRRar

4. Tnitiative vs. guilt / T8 ST I
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Correct Answer :-

« Industry vs. inferiority / SEINT &-TH Bl

26) Which of the following is not a hindrance to creativity? / Fafafeadd «n

TEFTHS AT P 1T U 3Ry T 82

1. Divergent thinking / RERIES

2. Functional fixedness / BTRITE® fRIT 3faRIT
3. Convergent thinking / SRR O

4. Mental set / ATFIRI® T

Correct Answer :-

« Divergent thinking / THT Id

27) Which of the following disorders is caused due to error in cell division?/ PIRBT

faurer 4 gt & wrur i § @ Si-a Rer siare?
1. ADHD / TSIT=S!

2. Dyslexia / fSafeRman

3. Autism / 3{IfcH

4, Down’s Syndrome / SI3 f@l’%ﬁ’q

Correct Answer :-

« Down’s Syndrome / SI3 liirs'ln

28) The practice that legitimizes powerful men’s dominant position in society and justifies the
subordination of the common male population and women and other marginalized ways of a

being a man is called /ﬁumﬁwﬁmmﬁuﬂﬁuﬁaﬁ
Y T © 3R 3 goy Srardl 3k Al & srefivdr &) e wer wdl § 8k
TP YU giH & 3 AIHid a¥idpl i PEISEI |

1. Femininity / i

2. Emphasized femininity / Tted TR SR ST
3. Complicit masculinity/ﬁ@ﬂm

4. Hegemonic masculinity / 3 TISY

Correct Answer :-

« Hegemonic masculinity/%wfﬁw
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29) What do you mean by curriculum? / UTSTHPH A 3ATYHT FT ﬂ'ﬂ'ﬁ'ﬁ'ﬁ?ﬂ%’
1. Sum total of the activities of a school. /ﬁ@@ﬁ"ﬁﬁ%ﬁﬂ%l
2. Sum total of the annual study. /aﬁ$ ST DI GHIT|

3. A child learns through curriculum. /WWW@ &WW% |

4. Indicates the course to be taught by the teachers to the students throughout the year. /UE ¥

T 18! gRT BT D1 UTT 9H ITdt UTSdhH Bl 3710 BT g

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /tﬁ G

T el gRT BT 61 UTT S 9Ta) UTSdshH &1 371 Bl gl

30) Students can overcome their misconception for the long term through: /

ot Stafafy o g areaw 9 = g sauRuNsH I UR uT g% d &l
1. Traditional teaching / URUR fRr&fur

2. Standard teaching / TT-Teh fRr&07

3. Refutational teaching/ fARTHRUT fR1&(01

4. Conventional teaching / TRURTT &0

Correct Answer :-

« Refutational teaching/ RTHR T fR7&10m

Topic:- General Hindi (L1GH)

1) T P! TSR] & dipad BT o 81 Aiepdie IE- § diedd 3 YHIRT 819 ard iR 39 uHE |
SiaeT o a1a @ & T T 3t wrger) AT 81 39 I sgawt ¥ Ude [T Tg ik TYer
B HEERI ISR A Bl 81 AN & U9 59 91d &1 SfUPR gidaT ¢ fh I & T¥ie! & IR | 399
Targ o A | fHA oft AU R # TR AR 1 T giar § 3R a8 urfierR & gRT S1aT 31 URA TS
AP 3 81 YR & anT WY warfirer F wrean A ora=r ufafR g €1 39 arg g gu nfafafy
TP TER it G4 & | 98 TIBR ATHRI PT R FTelt & 3HR W iR S &1 ARieA Hdl & a1 -1
ram STt B 1 e &1 U gayd Risid 8 % 53 UoR ot Aemiae ie o1 did e gidl 81 dideda
T TN RIS B TRITS & AT T 37 3T TR R Fd &1 T 3] Apaiid TWeR § T &
JufRuq fafay gt ik wal @) e g fan simar g1 59 o & fufor & g f5ft 9t smars g+t
;ﬁﬁ%éﬁﬁﬁ%ﬁﬁﬁm%%mmmﬁwﬁmwmmﬁwﬁaﬂﬁwﬁﬁ
CiEkl!

T Bt AgeR! A faftm wmfre augt @ chvig @ $F w31 | Aee fad! 81 sufer) gure ¥ Hiewt ok
Thifa a1 7@ & o) T o) ATgieR) SR B 1 ORI 1 ATSieR] I IgaSIdl & D I g91 A gl
2| TEERIE & TP A 7 Hadl CRISIP JUE q918 81 91T ¢ 9w dgaers uqg Y aare siar 21
AN B ST &) Ah i TRDR BT SMYUR T 21 ST Abas B T BT T T & o
AT D AIHER] SRERT 8 | FHTS B Thid 3R TgIBIP & 3P DI A1 IuT I ASiR! &1 ISR
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WRT FRON B | ANHAT BT AT BT AUV TG TT DI ATHGRT BT AP FRO1 | =01 & [ il
o faenfeT, sriuifere ofik rauTiieT; & St a1 ®T dearT gidT 81 §9 TRE & dean ot dfas
SCaRT 8T oIl ol 2l

ST TR DI UgH 1 U 7T U= $T @R 9a1gt|
v URd ® g g¢ ufafAfy feae! gaa 82

1. GUH DI

2. =T Bl

3, fardit &1 g1

4, IRPR DI

Correct Answer :-

. WOR DI

e ot g i W

SR

worT e fifeat vef w®

AT AT @

I9C AT HeRt B W

Tuft 3 @

et gra-arad BRI W

TTaT 3T

AR &d §d B W

e ot 7

HHe ol § 9 O

T foars ug grdi o

3fY 39 W frEdt g R A

TS Hiadl B T

Iuad U= B ugh? W 2T e usi & SR Iarsd :
we: TR 3MTHR BRI WR Tl St 32
1. hdg

2. U_R

3, W&
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4, qId-d1dd]

Correct Answer :-

o QIdl-d1da

o wiTan fifear v=i

Al 3fTelT B

IC T Pl BRI W

wwt et B

EIRCIRAGEG G R Rl

qTar 37d &

AR ¢d 9 B W

e ol B

e ol § 99 O

30 forars ug 1t

3 3 e forrd § gR A

TP Hfadr BRI R

ST U P @ -A1d 3T T Ueif & IR Jar1sy
UY: BTA US g1 & 7o ¥ I Ue Sidar foradt g2
1. TGl THeHR BRI & FHd e

2. BITI-HAH AP

3. HiadI Ug o RrEdt @
4, fordlt T feraar =

Correct Answer :-

o Tt THeHR B B HT B
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e ot @ v W
SERIDE

oIt e fifeat vef i

AT 3T 8

ITC AT HeRl BRI W

wwdt 3T 8

et gra-arad Bl W

9T 3T &

JdR ¢ @ BRI W

HEd ot B

The A § 99 5O

3 ferarg us B1dl |

3R 59 7Re frad 8 gv A

TP Hfgal B R

ST UL B UgHR A 3T T usil & IR 9a1sy
wy: ‘fyars’ &1 71 T giar 82
1. FPR-RE

2. TIY-TR & THS BT el

3. 9dl &1 TS

4. B! Pt IS

Correct Answer :-

. BIU-IR & IHS BT Hel
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aTaT T F

IAR ¢d 9d BT R

Hedl ot @

e Al § 99 7O

U foarg ug gradt o

3R 39 e frdt 8 g A
TS Figar B

ST TN B g A AU T usii & I<R 9arsd :
vy ‘HesY fhae) FEd 72

1, Al T FEIIBT

2. Had W] T HH B drail
3. $ad HHHATC a5

4, Ingad gt
Correct Answer :-

o ol
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SUYR U B Ugp A9 fAT T v & IR qarsd :
T R ATl | Tl SvaT ffear ¥ @ arenf 82

1. URR & BIC ¢ho

2. SUYed W q &3 g

3. BHTS & BIC-BIC Tho

4. YU & BIC-BIC Il

Correct Answer :-

. YUP BIc-BIC THd

IR d o B R

HEd ot B

e adl § 99 O

30 foars oS gt

3R 39 e Rradht g g AW

TS Fiadr B )

IUYTH U BT YgPR Ai1d faT T yeii & IR 9a1sd :
TY: AT 3THY B IR T Iae &l 82
1. @dcH

2. eall

3. TP

4, PR

Correct Answer :-
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R oIt g v W

X AT &

HeorT ST ffear vl w

A T §

IE T Pl BT W

wodt 3Tl @

et gra-arad wRi W

T 3T

JAR d o BRI R

e ot B

AT Tl § W PO

39 faars ue grai A

3R 39 e R } s AW

TS Hiaal B )

JUYE U B UgHR A faT ¢ usil & IwR garsd :
TY: S Bidar A ‘ST Weg fH o # Uged g 82
1. WR S

2.3 %

3. &

4, YN &

Correct Answer :-

. TRF
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oI Tt fifeat o= w®

A T &

¢ ¢dT HeR B W

Toft 3 @

el grer-arad B W

7T 3T &

JdR ¢d 9 BRI W

HEd oot @

THE Ol § 99 T

30 fars us gl §

3R 39 7vE foradt 8 av AW

TP Higdl B W)

SUT TR BT U A fau T wsi & IR 9arsy
TY: 3 PiaaT & STAR YT ATHT BRI T T I 82
1. U1 &I B 1

2. A SAR A |

3. ATs B & |

4. 1S T E |

Correct Answer :-

. JIBARAEI
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He 3Tt 3

e At e TE T

3 forars us g1uf

3R 39 e Rt 8 g8 A

TS Hiadl B W)

ST U HI Yg@ -1 3T T¢ yeif & I Ja1sy
TH: DI TP B W Yo @R ot 22
1.7

2. Fafgan

3. 9=

4. gdl

Correct Answer :-

SERINE

wort e fifeat vsf w

A Tl &

ITC &AT HeRt B W

awft ol B

et graT-arad B W

T 3T

IR &d 9o B R

HEd ot 7

Tie ol § 99 59

37 fars uS BT #

3R 39 W et g v A

TS Fiad B R

IUHE U B UgHR A1 AT T usil & SR garsy :
wY: 3R 3 avE fRrad! § 8% A9 U i B W A Fafie o1 Gda fpast 3R 82
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1. AEA BT 3R

2. TR AP TEl

3. Tl A=IgR Fafdefl @i SfiR
4, WG BT 3R

Correct Answer :-

A KTIN

RS TelT §

T ST ffeat vsi w®

AT T §

ITE T PRt B W

Traft 3T @

et grer-arad B W

TTaT 3T 8

AR &d Id BR W

Hedl ot 8

HHe 9l § 9 5O

3T+ foarg ug gradt o

3R 39 7Re fered 8 g AW

TS Hiaal B R

ST U= B g A faU T usii & IR 9arsd :
T: GRS SATHR BRI &b [T T TGD Bl 82
1, T AT 8 R

2. TS T § BRf

3.3 Y PO Tl

4, TSI o1l & Teifear

Correct Answer :-
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13) fafgar smdt &

19 STl fomds Wi W)

gar ardt 8

ok ot q@ R R

R TelT §

ot e fifeat vsf w®

Al 3iTell 8

I9C AT e B W

Tuft 3t 8

dielt qra-arad B W)

a7 3T &

JdR ¢ 9 BRI W

HEH el @

e Wl 3 WA T

3u+ foars us w1df &

3R 59 a¥g Rt 3 g A

TS Hiadl BRI W

S TN B g A1 AT T usil & SR 9arsy
TY: TG BRI TR ISP FIT-FIT BTH 5l THd 82
1. T, T, Tpen e

2. I, TR-JUTeT, YA JHRIE § RMfHe g
3. HaRI, T

4, M, €14, YoM, S

Correct Answer :-

« M, &, YIS, STaeid
14) fIfear andt @
3T wTdt foad pf R

R oIt q@ v R
RS STelT §

Tt Sia fifeat vl w
A1 1T §
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ITC &dT HeRl B W

7wt ot 7

EIECIRAGECIGR R RIE

TTaT 3T &

AR ¢d 9 B W

A 3Tt 3

e o § 99 55

3 forars us grdi §

3% 39 e Rt @ R A

TS Hiddl B R

ST Ui B U A1 AU T usii & S<R 9arsy
TY: BTH B Bl g A AeN F i AR ug g 2
1. 95

2. foarg

3.8l

4, A=

Correct Answer :-
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3 forars us B1Ut

3R 39 e Rt 8 g8 A

U HIadl B R

ITYT TR B UgHR A1 3T T ueii & I<R 9arsy :
wy: FIfSar srar w=f wr w ST et 72

1.3M

2. 38

3. 9=

4, fomids

Correct Answer :-

AR &d 9d B R

Hedl ot @

e ol § 9 7T

3 fyars us gl §

3R 59 TRe fored 8 ge A

TS Fiad B R

IWa U B UgdbR A fAT ¢ usil & S<R 9arsy :
TH: "HE AT AT $© e Al 87 | 71 Aaad 82
1, STH A g Tal

2. A S1Y At g
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3. M AP IUd g1 oTdl gl

4. 9 TR Pefl g% IR et gie S B

Correct Answer :-

. 9 TR Bl % I e wie Sl ]

17) T B AR} € dibd BT Tau 8 | dibdie MO § diedd § gHIfad 819 ard ok 39 yua &
Sita o9 a1a @ & o T 91 Argier] AR 8 1 39 IR et § Ude AT Wg Sk 9ie 3t
Yrfier) TReR & gl 1 @i & URT 39 a1d &7 RPR giar 3 % IA & adlel & an § 399 garg of
S| el O 3y PR B gR AR o1 fTww giar 8 8iR a8 yrfiers) & gRT oi1ar 1 URA U Aidbdits
71 YR & A S AARBR & Areaw [ 91 uiaffd g 81 39d 918 g g ufafHif te e @1
A g1 U8 IRPR AR BT I garel 3 SR Fraw i & &1 Sxnes St @ a1 7w a9t 81
APdd T TP Hayd Rigid @ fP 8 TPR B IeMiae Afed o1 |id Ul gl &1 Sidd # 6T TS Bt
TRT3 F AT F 3T 3T TR R Ha &1 T 3] Apaie WeR § U § SufRia fafay augl
3R wal @) e T g irar 81 w4 et & Ao § g7 fdt 3t smare g+t ot @1 saferd wg
SR g1 ira @ T fonsdt oft et A Temfas T o1 JearT it @ siftre Ariivet & = gl

T B AEiert ¥ Al gmafsre wagl & cavia & o0 $1 | Heg frad! ¥1 SHfer IHe § WeTd ik
Thifa TR T & o T 1 ArSieR) SR @ 1 9T 3 WSieR) ¥ dgHsIdl & TP | 91 off FdT g
TEHEID & AP A 7 HId AP Y q918 5l 91l § dicp sgaeId g Wt 918 giar 31 F o
SATATST §1 AP dife TWPR BT YR T1d1 81 SHRI Alpda DI ATHT BT JHIF 7@ P o) I« B
TSGR =<1 g | TS § TH14 SR TgHTAD & 3P B AB+1 Tl D1 ATHGR] BT TUSIGRT UIT BRI
T ABAT B MTHT DI HEUUT IWAT TT BT AIHGRI BT Afdd BRI 7| A & fafira ai; S faenfrer,
gﬁwﬁmﬁmmﬁm;%éﬁwmﬁeamﬁm%nwm%émﬁaﬁmﬁwmmmm
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3. e

4. Hd
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18) I P! TGN & Aipad &1 AU g1 Abait® R B dieds S JyIfad g a1d i 39 yua o
Sita o aral @ & e T 9 Argier) AR 8 1 39 I ST A Ude AT T9E Sk TUe 3
YRER] TWER # gl 81 NN & U 59 a1d &1 ARIPR gial 8 & IR & T8l & aR # 394 Jarg of
S | forsdt off 3¢ TRPR A g3 ANTRS &7 3R 8T 8 3MR I8 URTGR] & gIRT 31T 8 | YRd U dlbdiiae
I 31 URA & AT W AaTRIeR & W1 A U1 WA= o § 1 39 916 A §T U Uh IRPR Bi
TIa &1 U8 WRBR JSTHRT BT XM Fardl & 3R P iR S &1 G 3t @ a1 78 fraq s=rdh /1
Aipda &1 TP Jayd Risia @ fF 5 teR o} Iomiae e 1 \id ueT gkl 81 dipad § d@RT RIS $t
TYT3MT & ATAH | U 3HTT TR T FR 31 Th St ApaiiAd IRHR | gaTe § sufed fafae aug)
3R 74l @) SR TR far srar 81 o Hifvdt ¥ frafor § ) el 1 erare g ol 1 sl a
SR31 1 ST @ T fopeft oft Aiepas ® oMo | &1 JearT e | iftre AnTie) & S gl
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1 &1 Argiert ¥ fafie amafse augi § cove o 9 o ° Uag fHadt 81 afod aure § HigTs ofiv
Thifa IR T & o T 1 ArSieR) SR 8 1 I 9t WSieRl ¥ 9gusidl & iTd® | a1 off dahdl g
TEURIE & 3D Q 7 Pad UHTIF YYg q4T18 Bl oIaT & afees agaers aug o qare gar 21 @ &t
ATATS g APdifd IRBR BT ATYR T 81 SR Ahad DI AT BT T 364 & o w=r a1
TSGR =<t 31 THTS § ThR1a SR TgHTAD & AP B AB+11 Tl DI ATHGR] BT TUSIGRT UIT BRI
T Ada P T BT 00T TG TT B ATgieR) BT Afad FRUT g1 A= & A oi; S faufRier,
gr&mﬁmﬁmﬁmr;%aﬁawmﬁwm@m%nwm%ﬁﬁﬁﬁéﬁaﬁﬁmmmm
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ST TR B Ugh -1 I 7T 4R BT Ik garsy|

UY: T & & ST & g 91 BT deaRT g1 82
1. 9 <HI & o

2. bad YRRyt

3. ad UT(erehT

4, Bad HRYTICTDBT

Correct Answer :-

. IWdad dHl & o

19) T @I RGN & Awds &1 Taud 71 Sedit® a3 dieds S U 819 a1d iR 39 uHE o
Siae SiF ara @ & ST T 91 IigieR) Afd 81 359 T et § Ul Qe g iR IS
YRfieR] WeR # gl 81 |l & U 59 a1d &1 ARISR gial 3 & IR & e & IR # 3949 Jarg of
S | fdt Y ae TR A 81 ARG P71 {371 BiaT @ SR U8 UFHER] & §RT 31T 8| YRd UP dlbdiia®
TR YR & A1 HQ ARG R F ATead T U1 Uiy g & 1 39F 918 g 5 Ui~ v TR &1
T &1 T8 IR ATHRT BT I =eltell 2 3R Fraw iR S &1 W=es St @ a1 72w a9rdt g1
Widwda &1 TP Jayd Risid 8 fF g3 UeR ot Iemiae e ST Hid Uo7 gl 81 dipad § dRT @RS at
TRIT3 F ATHH | 31U 3T TR XA Fad &1 T 3] Apaiid PR A T # Sufia fafay Jgl
IR Tt &t I TwE o wirar 81 5= Aifat & i & g 6l 91 emare 3 okt 1 39 98
W3] g oirdT @ T Tt oft diep # TreiAfae I &1 dearT 3ife | siftre ATive] & S 8l

T o1 ASierR) 9 Rt arfire Tagl § v & w9 A § deg el 81 33l waw § Wt ofik
ifa 1 I & R I B ATSieR) Sl § | W91 Y "igieR! N TgHSID] & 3iTd® | T o Jhdl gl
TEISID F 3D A 7 Had IRSS WYg d918 gl oIl § afew agaers aug ot qarg giar 81 @il &
ATATST &1 AP die TRPR BT YR T 81 SARA Aipdd DI SATHT BT I 7@ P o) T«1 B
TIHERY SR ¢ | AT H THIG 3R TgHBIP P AP PI ADT Tl DI TSR BT HIGRT HRT BRI
2| AP BT SMTHT DI ALUUT IGHT TT B ATHGRY BT Afdd HrRo1 31 = & fafira sit; S faenfyer,
;ﬁmﬁmaﬁvmﬁﬁawmmmélsﬂm?%ﬁm&aﬁ%ﬁmmmm
|

IWIR T B UG A1 IR 7Y U BT S@R ga1stl
UY: ART B SATITS B fPEBT TR TATH 52

1. g Pl

2. YEHR P

3. gH-dg T

4, TIbdiiAdh TRBR DI

Correct Answer :-

Page- 24



. ADdiAD IWRPR BT

20) T P! ATRIGRT g1 Aipad BT a0 g1 Abaiti® AR B diead S JYIfad g9 a1d 8 39 yua o
Siae SiF ard @ & i T 9 Iigier) Afd 8 1 39 I et § Ul QAT 9 SR aHer B
yrfier) TR & gl 71 G & U 39 919 31 ARISR ar @ {5 1 & adte! & ar o 399 Jarg o
W | fredt +ff 34 TRPR # 8T AN o7 871 8141 & 3R 98 YNGR & gRT 3mal 81 HRd U dlbdiiaed
T B YRA & a1 S AAIieR F Aread J a1 ufafafy g &1 39F 918 g 5T ufafAif v e &1
T &1 U8 TR ASRT BT AT et & iR Fraw iR S &1 Wieq Sl 8 a1 712 oy g9 mdt 21
s T TP Jayd Rigid 8 fh 8¢ TR &1 Iemiae ufdd &1 \id UST il 8 | dibad 8 G @RS St
TRITSHT & ATHH I S SATT W R R &1 TH 3] Aipditd WReR & A 8§ Sufyd fafay wagt
3R el &1 Ifa g e srar |1 59 Hifoal & Ao § g it 1 smare I ot 31 safl ws
T 81 o & T fondt oft At A et T 1 dearT St | siftre Ariivet & S gl

T Pt Areiert A At amire Tugl # cova 7 F1 A deg e 31 sufer gure # wieTd ok
TNifd TR T & o T 1 ATeieR] RN @ 1 T $t WISieR! ¥ TgHSId] & TS I 91 ol [l o
TEUCIT & 3D A 7 Had TIRISS W d9T18 8l o1 ¢ dfees agaers ayg ot qarg giar 81 @il &
JTATST Bl APdiAD TRPR BT YR T 81 SARE Thda DI SATHT BT W 3@ & o) T=m &1
TGRSR g | TATS H THIIG 3R TgHTAP $ 3MMAP BI ADT W1 DI TSR BT JHHGRT HRT BRI
B Aibas P T DI &J00T TG TAT Bt TSGR BT Afdd FRUT g1 R & faftam oi; o faurfieT,
Wﬁmwﬁm;%ﬁawmﬁwmém%wm%ﬁwﬁaﬁ%ﬁﬁmwmm
|

ST TR B TePR 1K IR 7T U BT IwiX 9aisy|

T: TDHaT DI T DI SEUUT IGHT TT Bl AIHGRT BT DIH-HT BRI G2
1, 3ffcH

2. Afa®

3. Y

4, JrATfoTH

Correct Answer :-

21) I P! EER) € didda BT Jaua 8 | diediie a— § diedd @ THIfad 811 ard 3R 39 yHE &
Sitae o9 a1a @Rl & o T 91 Argier] AR 8 1 39 I et § Ude A Tg Sik Tie 3t
YrfieR) TRER & gl 1 @i & U 59 aTd &7 ARPR giar 3 & A & adlel & ar § 399 Jarg of
S| forsdt off def TRPR A g AN &7 21 8T € 3R I8 URTeR) & gRT 31T 8 | YRd U dibditae
71 YR & a1 S AARGR & Areqd [ o1 uiafafy g 81 39d 918 g §U ufaf=if v TRk &1
T 31 I IRPR AR BT I Farel 3 SR Frad i &1 &1 Sxnes St @ a1 71 fFraw a9t g1
Wipad BT T qayd Rigid & fF 8% PR B Iemiae iRt o1 Fd IS Bidl ¢ 1 dipadd # 6N W@ 3t
TRITA & ATHH AU STT W R A & | Th 3] Apditid ISR § FaT 8§ SR fafay wagh
3R wal &) e T g sirar 81 w4 ot & Fafor o g7 fdt 3t smarer -t ot @1 safed wg
SR=31 8 o1t @ T fasdt off eiepesr § Iemfae T &1 dearT ot | it ARt & S 8|

T B AEeRt § Al amfsre wagt & cavig & v $ | Heg fad! §1 3ufer IHe § WeTd 8fiv
TTifa ST TE & o O it WTSieR Wl 3 | T Bl ATSIGR A TgEID! &b ATdD I 4T o TPl g
TEUEIF F D A 7 Had UHTID WY q918 8l 91T ¢ afees agaers ayg ot qare giar 81 @il &t
AT ABais TRHR BT ATYR T 81 FHRRA TP Bt AT BT T @4 & o = &t
TSGR o= 3 | THTS H TH1 SR TgHTAD & 3P B AB+1 Tl DI AIHGR] BT USR] YT BRI
T AP DY ATHT DI HEUUT IGAT Tl BT AIHGRI BT A SR 7| AR & fafdra 3i; S faenfyer,
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TH: WP & AN fp TRATS & ATH I 3T 3T IR I R 82
1. <A Dl

2. TSI &I

3, 3 o

4, TR Bt

Correct Answer :-

22) T F AR & dibad HTYaH 8 | Aedie I § dddd o guIiad 89 a1d iR 39 wHTa o
Sita= o9 ara @Rl & e S 9 ArgierR] AT 81 59 W SawT § Ude IS TqE iR TS Pt
yrfier) TR & il 81 SN & U9 39 a1d 31 SARPR gar @ {5 = & @il & aR A 399 Jare o
ST | et WY 3 TRPR # 8T AR P71 {01 BT 8 9fiR 98 HRNER! & §RT 31T 8| YRd T didhdiiae®
I 1 URE & T W AR R & Aread | a1 ufafAf g9 81 U a1e g ¢ Uiy v TWeR &1
Yd &1 T8 TRPR ISR BT A Faard! g 3R Fraw 3R S &1 Fxited St ¢ a1 74 fraw a4t 21
e T TP Tayd Rigia 8 fr 53 veR o) Iemfae fe &1 wid ue gidt 81 diedaa § G @RS 3t
TYT3ff & AT | U 3ATT TR T DR 3| Th ISt Apdie IRHR A g § Sufeyd fafae aqg)
3R wat &) e Twar= foan wirar 81 w4 et & Fafor & g7 fod 9t smarer - ot 21 safed ws
SR1 g1 STt @ T fpedt oft e & Temifae T &1 dearT it ¥ Siftre et & § gt

I Ft Areiert @ fafte e gt # cov Bt v $e1 § Hae frad) 11 safed v § HieTs iR
Thifd IR Tam & Ford T 1 ATgie Rt SR @ 1 9T 3t WSieRl ¥ 9gusIidl & SiTd® I 9T ol qahdl g
TEURIE & 3P A 7 Had CIATIP TYg d9T18 5l oial 8 afees agaere aqg o aare gar 81 @i &t
3TaTS & APdiD TRPR BT YR T 21 SURHA Abda D1 AT BT T IE1 & i w1 3t
TIPERY e} 31 TS H THAG 3R TgHEIH & 3(TdD DI UG- T<1 P HISGR] BT THSIGRT HIT BRI
T Amaa P THT BT &JU0T TG TT B ATSieR] BT Afdd SR g1 R & faf of; S faurfRyer,
;ﬁmﬁm;%mwmﬁﬁmm%lwaR%ﬁﬁ&aﬁéﬁvﬁﬁmmmm
|

TR TR B UgHR -1 U 7Y A HT I« gasC|

TY: THTS H Higs: 3R ifd T 3@ & o a1 ¥ g2
1. HdalH

2. <l =g

3. #Hald

4, T D1 TSR

Correct Answer :-

. TP EER

23) T P AEERY 8§ diedd o1 qaud 81 Aiedie Wad § diedd @ gHIfad 29 ard iR 39 uvya §
Sia S ara @ & i O 9 Areier] AT €1 39 I SaawT § Ude TS g Sik TS $i
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Yrfier} TRER & gl |1 @RI & IR 59 9Td &1 ARISGR gial 2 % IRA & a8l & aR § 399 Jarg of
S | fdt oft 3¢ TRPR A g3 ANTRS &7 feRT1 gidr 8 3R I8 URTGR] & gRT 31Tl 8 | YRd U Albdiiad
3T R YR F A N TaReR F arerm F oo a9 1 39S 918 T sY v v ReRr 9t
T4 &1 U8 IRBR ASHRT BT T Fard! & 3R Fraw 3R ST 1 Wied St § a1 714 Fraw a9 21
diwda &1 TP gayd Risia @ fF 5% ToR o} Iemiae e 1 \id Uo7 gl 81 dipad § d@RT RIS at
TRITSHT & ATHH I S SATT W G HA &1 Th ) Aipdifd IReR A A § sufya fafay wggt
3R wa) B SR TR far s 81 o ARt ¥ o § ) 5l Y emare g ol 1 sl ae
SR B oIt § 1 farlt off eieres ® TerRfae T &1 Jear ot | it ATive! & S 8l

T P et ¥ AR amire Tugl # coea 7 F1 A deg fad 813U gume # Wit ok
e 1 I & R 1 B ASieR) Sl § | 91 B "iEieR! I TgHSIS] & 3iTd® | w1 o Jhdl gl
TEHRIF & AP A 7 Had SRS g 9918 &l 91T § dfesh dgaend uqg i aa1g giar g1 arni 3t
ATATS Bl APdiEe PR BT YR T g1 SH Addd B SATHT BT JHH 3@ & ford J«m &t
TSR SR g | AT T THRIG 3R TgHSIP P 3MTAP PI ADHT W1 DI TSR BT HIGRT HRT BRI
21 ANDT BT SMTHT DT ALUUT I T B AHERY BT Afad w11 71 e & fafira sil; S faenfyer,
gﬁmaﬁvm;%ﬁawmmmélwmﬁﬁwﬁﬁ%ﬁﬁmmmm
|

ITR T B U A1 IR 7Y YR BT S@ 9a1gtl

wy: et off A | T T 3T dearT St | i frasd dta g
1. g &

2. ufafaferi &

3. MR &

4, BRI &

Correct Answer :-

« ARG &

24) I B ISR € Aibds BT Howa ¢ | diddie WE= § diddd  THIfad 814 ardl 3R 39 gHE §
St Sfi= ara @ & S T 3 ARt fAfta 7 1 39 I s § vl e 9ug SR Ied 3t
YRt TREHR & gl g1 A & I 39 919 &1 ARIPR 31 8 1 I & T8! & an & 37 Iag o
S| fpedt oft def TRBR | g% ANTRS &7 {7 gian 8§ 3R 98 URTieR & §RT 3iTaT 8 | HRd U Arbditd
I 71 YRA & a1 S TafReR & aregd 1 sroer ufafafy g 81 39% 91¢ g gu ufaf i ve e @1
A §1 U8 IRPR AR BT I Tl 3 SR Fraw i ST &1 S=nes $wedt @ a1 7 fFraw a=rdt 21
wpaa BT TP Hayd Riid ¢ fP 88 TPR P Iemiae AT ST EId TS gl 8| dibda § @NT TR $1
TRITSH & ATHH | ST SATT W R R 7 | TH 3] At ISR A AT § Iufya fafay wagh
3R wat @) Sfaa T fan wirar 31 o= et & Fafor & 7 fodt 3t smarer it ot 81 saferd o
St g1 Tt @ T el Off Sfwrds & vemifae = &1 SearT Siftre 9 siftre Aarivat & S gt

T $t Arsiert ¥ At wmicie aygl @ cova o 7 $1 § deg fAad! 31 suferd gure # Hierd ik
i 1 I & T I B AreieR) Sl 8 1 W1 Y rgieR! ¥ TgHSIS] & TP | w1 o Jhdl gl
TEUBIF F 3P A 7 Had SIHTID WYE d9T18 8l o1 & afees agaers aig ot qare giar 81 @il &
3TATS §1 Alpdilae SRPR BT YR S91d] g1 ST didda Pt ATHT BT G 3@ & ford I &1
TSR SR & | THTST § THRI4 MR TEHTAP & AP B AB-T1 TT D1 ASIGR] BT HSGRT HIT BRI
T BT B ATHT B SH&UUT TG T 1 VTGN BT A0S RO 81 R & s o ; S fyemRyer,
Wﬁm;%mwmﬁmmélwm%h&ﬁ%mmmw
|

SUY TR B} Uga? 12 IR 7T U T Ik 9aizgl
T I 3t Aen! | Al amafores aagl & « $u gl S g2
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1. ST
2. THIG

3. T8N

4. gH9Y

Correct Answer :-

25) T B AR} & Aiddd BT Y@U 8| Aedie M- A didvds A YU g9 ard 3R 39 guta o
Sha= o= ard @il & S T o IrgieR Afd 8 1 39 e et § uae T 9g SR aye B
YT TR & il 81 @ & U9 39 919 31 AReR gar @ {5 I & adiel & ar o 399 Jare o
ST | et Y a4 TRPR H 8T ANTRS P71 {2371 BT @ 8 U8 HRER] & §RT 31T 8| YRd U didhdiae®
I 31 YR & @ W aarRieR & wreay & o ufafaft g §1 39 a1 A gu uiai=iy ve Iwer 3t
T T T8 IRPR ASTHRT BT T Farel 3 SR Fraw S S &1 S=ies $eat @ a1 72 fFraw a4t 81
Wad BT TP Gayd Rigid ¢ f5 8¢ TpR 31 Iemiae et o1 Eid U gl 8 | dibda § @1 W@ &
TRTS & TATHH I U 3T TR R Hd ¢ | T 3! Atpaitd WeR § Iue | Iufid fafay aggl
3R wat ) e T fean wirar 71 w4 Hifew & Fafor & g7 fod 9t smarer gt ot 31 safed ag
SR B) Wi @ T fordt oft i A Trefae I o1 dearT St  siftre Ariive) & S gl

T Ft reierRt A At amitre TyEl # cova 1 o7 $1 # deg el 31 suferd game # HiegTd iR
Thifa TR T & o T 1 ArSier) SRS @ 1 N1 $t WSieR) ¥ TgHSId] & SiTd® I 91 ol Wl 8|
TEHEID & AP I 7 Pad USTIP HYE d918 Bl SIdl ¢ afees sgaei® gqg ol da1e giar 81 @il &1
TSl §1 APdie TRPR BT YR T 81 ST Aibda DI SATHT BT W I@A & ford J=m &
TSR S § | THTS H THRIG 3R TEHTAD & 3P B AB-1 TT D1 AISGRT BT HSGRT UIT BRI
T BT B ATHT B AUV TG T 1 ISR BT A0S 1RO 8 1 R & fafira o S fyenfRyer,
gﬁmsﬁvmmﬁdhwmﬁamm%lwméﬁﬁ&ﬁ%ﬁﬂﬁmwmm
|

SR TR B UgHR -1 IR 7Y A HT I&R gaisy|
WY: XM B ~AHfa-Faior J ST | &1 A= amfge?
1. Hag

2. elddl

3. U

4. ¥dlle

Correct Answer :-

26) T S ATSIGRT & Awds BT T@UA § | APdits MG A dida A THITAT g a1d iR 39 gt o
Stae S aret |l & o e B AR} fAifed €1 59 e et § Ul A 9qg SR T B
Yl TREHR & gl 31 A & I 39 91 &1 ARPR BT § 7 I & afiel & 9 # 39 gag o
S| fopaft oft der TRpR # g% AR @7 7w glar 8 3R 98 Yrfier) & gRT 3itaT 81 HRd U dibdite
R HRA F v 1 AarieR & Arerd A =1 ufafAi g €1 SUSP 916 A 8¢ Uiy te TR @1
T T 1 98 TRPR ISRT BT AT et g iR Fraw ok S &1 wxiteq sl 8 a1 7 g st 31
Awad T TP Tayd Rigia & fF a8 ToR o1 Iemfas AfeT &1 \id UST Bidl 81 dipad & aNT @RS 3t
TRT3 F ATHH 37 3T TR W F &1 T 33T dipaiie WeR A U § SufRid fafay agl
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3R wdl @t Sfaa T & sirar 81 o= <ifaat & fFafor § g3 fasdt & smars - <t 81 safed a8
SR g1 ot @ T fndt oft et & wemfas T o1 JearT e @ siftre it & S gl

T B AEeR) I Al qrafsre Tagl #§ chvia &1 o7 $1 | Heg fad! §1 S Iue § WeTe ik
TNifd 1A 7@ & R I ot ATSieR Wl § | T Dl ATRIGR A TgHBID| &b ATdD I T o Dl g
TEUCIF F AP A 7 Had IS WY d918 8 oIIdT ¢ afews agaers ayg ot aarg giar 81 @l &
AT ABais IRBR BT ATYR T 81 FAR TP Bt AT BT W @4 & o = &t
TSGR W=} g | THTS § THR1 SR TgHTID & 3P B AB+1 Tl DI AIHGR] BT TUSIGRT YT BRI
T Aids P THT BT J&UVT IGT T Bt ATSieR BT Afad FRUT g1 R & Al oi; S faufRer,
WﬁW;%WWﬁWW%IWM%Wﬁ%WWWW
I

IR TR B Ugh -1 IS 7T A BT IR gaisy|

TY: URd & ARG {5 A1 § =1 wfafaf god &2
1. § AAMIBR GRI

2. BIU 33N

3, 9O Ulhar &

4. BIY SGP

Correct Answer :-

« O AAGR gRI

27) TSI ATiGR! § Adad BT Yaus ¢l Abdaiiae - 8 alddd o THIAd 89 91d 3R 39 yua |
Siae SiF ard @ & ST T 9 IrgieR) Afd 8 1 39 T et § Ul qrATTe 9 iR aHer
Yfigr TREHR & gl g1 A & U 39 91 &1 RPR g1 8 7% I & aflel & IR # 39 Herg o
S | fadt oft 3¢ TRPR A 53 ANTRS &7 e gidr 8 3R I8 URTGR] & §IRT 31T 8| YRd U dibdias
TR YRA & A N ARG R & ATeaH F U1 Uiy g &1 39d 918 g g ufafAift v IR &1
T &1 98 TRPR ISRT BT T et & iR Frad iR S &1 G0 Sl 8 a1 714 o gt 21
s BT TP Jayd Rigid ¢ fh 83 ToR &1 Jemiae ufe &1 \id UST Bidl 81 dibds 8 aRT w@RIS 3t
TEITSMT & ATHH I ST 3MTY TR A Fd ¢ | TP St Alwaits IReR | aure § gufeyd fafder awgi
3R el o I TwE A srar 81 59 Hifod & Fuior § g it 3 smare g okt 31 safr ws
SR31 B o1t & 1 faneht off et W iAo T @1 Jear ot | St ATt & S gl

T o1 AsieRt A fifta arfire agl # T & 70 w3 § deg et 81 33l waw § Wt ofik
Tifd TR TE & o T 91 YrEieR] SRS € 1 991 9t WSieR] Y TgHSId] & 3iTd® I a1 off Jhdl g
TEHBID F 3D A 7 Had IS WYg d918 Bl o1 ¢ dfewn agaerd aug ot aarg giar 81 @il &
ATATS Bl APdi® PR BT YR T g1 SHD Adbdd DI SATHT BT THH 3@ & ford J=m #t
TR T} § | TS § TH1a 3N TgHCAD & 3P B JAB-T1 T1 DI ATGRT BT USR] YT BRI
B Aihas B THT BT 00T I TT Bt TSGR BT Afdd SRUT ¢ 1 R & faftm oi; S faenfieT,
Wﬁwmm%;%ﬁwmﬁamém%nwm%ﬁmﬁﬁ%ﬁmwmm
[

U T B TgPHR ) G Y U= BT SR TASC
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28) T &I AIHIGR & Alwda &1 Jaud 7| Aibdit® Ima § died S TUIfad g9 ard iR 39 uyE o
Sita= o ara @ & i O 9 Areier] AfRd € 1 39 I et § Ude JrHTTe T9E Sik TS $t
YRfieR) TWeR # gl 81 @I & U 59 1d &1 ARIPR gia1 8 & I & T8ie! & IR # 399 Jarg of
S | fdt Y der TRPR A 81 ANTRS P71 {3371 T @ 3R g YRR & §RT 14T 8 | YRd U dlbdiae®
TR YR & a1 Q) AafReR F Areaw J o1 wiaffy g &1 39% 918 91 g ufaf=if v e #1
T &1 98 TR ASHRT BT T gt & iR Fram iR S &1 G=iteq Sl 8 a1 714 o st 21
Awdd BT TP Jayd Rigia & f 8¢ yaR o) Jemifas ufdd &1 \id us gidl 81 dibas 8 aNT @RS 3t
T3t & ATLAH | U 3ATT TR T HYA &1 Th S Apdiid IRPR A GAe # Sufeyd fafaer augt
IR el o I T R srar /1 59 ol & Ao § g i 9 snare I Rl 81 safr ws
SR31 g1 oTdT @ T fpelt oft e ® IemMfae | &1 JearT it | iftre ariel & S8t

T Pt Areiert ¥ A Imire Tugl # cowa 8 F1 A deg e 31 3ufer aure # HigTs ok
i TR TE & o T 91 YrEieR] SRS €1 991 91 WEieR) N TgHSId] & 3iTde | 91 Sl Jhdl g
TEHCID F 3P A 7 Had IRISIS WYg d9T18 gl oIl § afews agaerd aug Ut aarg giar 81 @il o
TS Bl APdi® PR BT YR T g1 SHRA Adbdd B SATHT BT T 3@ & ford J=m &t
AR o § 1 GATS § THRG 3R TgUTAF & AP B AB-1 Ul B PR HT USR] WRT HROT
2| DT BT SMTHT DI LTI IGT TT B ATHGRY BT Afdd SR 31 v+ & fafira sit; S faenfyer,
;ﬁqﬁmsﬁvmﬁéﬁwmmﬁm%lwm%ﬁw&aﬁ%mmmm
|

IUY T B Ugh -1 U 7Y U BT Sk gaigtl

"Y: A S Yayd Risia & SR IeHia® et o1 fead Hfga g2
1, UTfereT H

2. ST H

3, WHR Y

4, fauRer o

Correct Answer :-

. SHarH

29) X1 Pt AEIERT & Aldds o1 qui 81 AiediEe WEd § diedd @ THIfad g9 ard iR 39 uya §
Sitae Shi= are @ & ST T 3t ARieR! fAfta 7 1 39 I g ¥ vl AT 9ug SR IUe 3t
YRER] TRER # gt 81 9N & U1 59 I1d &1 RPR gial & & I & a8 & IR # 399 9arg of
S | frsdt off 3y TRPR H g ARG BT 31 8T € 3N% I8 URTGR] & gRT 31T 8 | WRd TS dlbdiiad
I 31 YR & v W warRier & wreay F o ufaf~ft g €1 39 a1 A gu ufaf =iy e e ot
T T U8 PR JISIRT BT AT gt 8 oiR Fraw ok S 31 w=iteq Sl 8 a1 72 g g9t 21
dedd T U qayd Rigid & P 8 TR B IeMiae fe o1 |id Ul gl ¢ | Sl § TN RIS ot
TRIT3 F ATHH I U 3T TR R Fa ¢ 1 T 33! dpaite WeR A Tue § Sufya fafay agl
3R wal Pt I T o sirar 31 w9 Hifaat & Fafor § gw fosdt Y emas g @it 21 9 aw
SR31 81 o1 & T foht off eiepds § TeTifae I o1 dearT ot | e AR b S gl

T ®1 Agiert A fafte arfre gl # v & w0 A § deg et 81 sufr) wae # Wt ik
Thifd TR TE & o T 1 GrEieR) SRS @ 1 9N ) USieR) ¥ TgHSIe & 3iTd® I 99T o JhdT g
TEURIE & 3D T 7 Hdd SUHTIP YYg q49T18 Bl oraT & afees agaere gag ot a1 gar 21 @i &t
3TaTSl § APdiEe IRPR BT YR TG 81 SR Adda DI ATHT BT T W1 & ol T« $t
TR S § | THTS § THI1G 3R TP & 3P P Ab-T1 IT B| ASIGR] BT JHSERT U BRI
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81 Tihd 1 3T BI 300N T Tl B WG] BT Afdd SR 7| A & fafira 3F; S faenfaer,
;ﬁmﬁiﬂaﬁvmﬁmwmmmﬁlwm%ﬁzﬁ&ﬁéﬁmﬁﬁmmmm
|

SUY T TR B UG -1 IR 7Y YA BT I« gaisy|
TY: T B ASIGR] 81 Al BT R 82

1. g8
2. WY

3. 7oA

4, YW

Correct Answer :-

30) W1 B AIEIGRY € Aldda BT Howa ¢ | diddie WE= § diddd Q@ THIad 814 ard 3R 39 gHE d
Sita o9 ara @ & i T 9 Argier) R 8 1 39 I saawn § ude A Wgg Sik GUe $t
yrifier TR & gl 71 SN & U 39 919 3T ARPR Tar @ {6 = & a8l & IR A 399 Jare o
A | fasdt off 3o TRPR | g ANTRS &7 o1 gidr € 3R I8 YRG! & §IRT 3171 8 | YRd U dibditas
71 YRT & a1 S TafReR & areaw 1 sroer ufafaft g 81 39% 91¢ g gu ufaf iy ve e @t
Td §1 T8 IRPR ASTHRT BT T Tl 7 SR e iR ST &1 S=nes $wet @ a1 1 Fraw a=rdt 21
dedd P U Gayd Rigid @ P 8¢ TR B IeHiae 2l o1 Hid Ul gl ¢ | S § @1 @RS ot
TRITSHt & ATHH | ST STY W AR R 7 | TH 3] Apditd IReR A A § Iufya fafay wagh
3R wat &) Sfa T o wirar 31 o= Hifewt & Fafor & a7 fxd 3t smarer i ot 31 saferd @
TR 8) o @ 6 font oft At A Tt T 1 dearT St W siftre Amiivnt & S gl

T o1 Ao A fifts Irfie augl § v & 79 o4 § deg et 81 sl waw ¥ Wt ofik
Trifa T I & R I B AISieR) Sl 8 | W1 Y AieieR! ¥ SgASId] & TP | w1 off JahdT gl
TEIRIE & 3P A 7 Had SIS TYg 9718 Bl oiaT 2 afes agaers aqg ot aare gar 81 &l a1
ATATS §1 AP diHe TRPR BT YR T 81 SHRY Aipdd DI SATHT BT W 7@ P o) T« B
TSR S 8 | GHTS § THRI4 3R TgHTAD & 3P B Ab-1 T D1 AISGR] BT USR] HT BRI
T Amas BT THT BT J&J0T TG T Bt TSGR BT Afdd SRUT g 1 A & faftm oi; S faerfe,
;ﬁmaﬁvmﬁﬁawmﬁzﬂmm%lsﬂmﬁ%ﬁmﬁaﬁmmwmm
|

ST T PV UGH e TS T Y BT Swi) qaigy|
w: 5 i & Ao & et smare g vt 82
1. yUfd B

2. G TR Bt

3. fFaffea gfaffat o

4, W B &t

Correct Answer :-

. R ibdi®t
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Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-I'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a
flurry.' One says the counter-'It's too late now to worry!"' WHOOSH - they're off in a flaming HURRY!

What happens when the counter utters ‘ten’?
1. The person is checking the dials

2. The person is checking the fuel

3. The person is checking the engine

4, The person is checking the panel

Correct Answer :-

® The person is checking the dials

2) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files." Eight says the counter-'I can't find my key!' Seven says the counter-'I
'm glad I had my tea!'-Six says the counter- 'l must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

Where is the astronaut?

1. In space

2. Outside the launching pad
3. In the launching pad

4. In the space-ship

Correct Answer :-

e In the space-ship

3) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I
'm glad I had my tea!’-Six says the counter- 'l must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
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the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a
flurry.' One says the counter-'It's too late now to worry!" WHOOSH - they're off in a flaming HURRY!

What happens at count-down nine?
1. Rocket is readied

2. Astronaut gets ready

3. The engine is switched on

4. The computer is accessed

Correct Answer :-
e The computer is accessed

4) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!’-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a
flurry.' One says the counter-'It's too late now to worry!" WHOOSH - they're off in a flaming HURRY!

When six is counted what does the astronaut in the rocket do?
1. Is asked to be calm

2. Becomes calm

3. Reminds himself to remain calm

4, Is unable to be calm

Correct Answer :-
e Is asked to be calm

5) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check
the dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l
'm glad I had my tea!’-Six says the counter- 'I must try to keep calm.’ Five says the counter-'Or else I'll come to harm.' Four says
the counter-'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a
flurry.' One says the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

Where does the count-down begin?
1. Factory inauguration

2. Place takes off at the airport
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3. Train flag off at the station

4. Rocket launching pad

Correct Answer :-

® Rocket launching pad

6) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

Who is specified to know what a circle is?
1. Children

2. Bangles

3. Moon

4. Sun

Correct Answer :-

®  Children

7) Read the poem carefully and answer the question given below:

The earth we live is a circle.
Hot hot sun is a circle.

The cool moon is a circle.
Delicious orange is a circle.

Bangles we wear too is a circle.
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Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

The suitable title for the poem could be:

1. A circle
2. The moon
3. The sun
4, Bangles

Correct Answer :-

. A circle

8) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

How many things mentioned by the author is in the shape of a circle?
1. Six
2. Seven

3. Four
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4, Three

Correct Answer :-
o Six

9) Fill in the blank with the correct option from those given below:

The Dean his staff to spend a larger chunk of their time with the student community.
1. authorities

2. authorized

3. authority

4, authoritative

Correct Answer :-
¢ authorized

10) Fill in the blanks with the appropriate conjunction.
Hewas______ intelligent______ brave.

1. from, to

2. not only, but also

3. though, either

4, whether, or

Correct Answer :-

 not only, but also

11) Choose appropriate articles for the given sentence:

I first met Hina ____year ago at _____investiture ceremony.
1. an, no article required

2.a,an

3. no article required, a

4, no article required, the

Correct Answer :-
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12) Choose the appropriate option that rewrites the given sentence in its passive voice.

Gautham Gambhir has announced his retirement from all formats of cricket.

1. His retirement had been announced by Gautham Gambhir from all formats of cricket.
2. His retirements from all formats of cricket have been announced by Gautham Gambhir.
3. His retirement from all formats of cricket has been announced by Gautham Gambhir.

4, Gautham Gambhir has been announced by his retirement from all forms of cricket.

Correct Answer :-

» His retirement from all formats of cricket has been announced by Gautham Gambhir.

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

Sorry we late, we a wrong turn.

1. had been, were taking
2. are, took
3. were, were taken

4, are getting, had taken

Correct Answer :-
e are, took

14) Choose the appropriate antonym for the highlighted word in the given sentence.

She is secretive about how much money she earns.
1. callous

2. forthright

3. cautious

4. covert

Correct Answer :-

o forthright
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15) Choose the appropriate pronouns in the given sentence:

__ go for a regular health check-up at the clinic run by cousin.
1.1, my

2. It, its

3. She, her

4. He, his

Correct Answer :-

16) Choose the appropriate synonym for the highlighted word in the given sentence.

My mother would warn me not to fidget in my place while she combed the knots out of my hair.
1. tussles

2. curls

3. entanglements

4, ties

Correct Answer :-

* entanglements

17) Choose the appropriate prepositions for the given sentence:

He sent her a lovely bouquet roses, which she threw the floor.
1. in, against

2. on, for

3. of, on

4, of, at

Correct Answer :-

18) Choose an appropriate modal for the given sentence:
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Tasneem swim like a fish.
1. must
2. shall
3. may

4, can

Correct Answer :-

19) Choose the option that best explains the highlighted expression:
He had flu a couple of months ago and he's been a bit off-colour ever since.

1. flushed
2. over cautious
3. hyper sensitive

4, not being his usual self

Correct Answer :-
¢ not being his usual self

20) Choose the option that best combines the given sentences.

The speaker had just finished his speech. The people started shouting slogans.
1. Hardly had the speaker finished his speech when the people started shouting slogans.
2. Hardly had the speaker finished his speech than the people started shouting slogans.
3. Hardly had the speaker finished his speech then the people started shouting slogans.

4, Hardly had the speaker finish his speech and the people started shouting slogans.

Correct Answer :-

« Hardly had the speaker finished his speech when the people started shouting slogans.

21) Choose the option that best transforms the sentence into Indirect form:

‘Ugh! There’s a fly in my soup. Waiter!’ he cried
1. Exclaiming with disgust that there has been a fly in soup and began to call the waiter.

2. He exclaimed with surprise that there was a fly in soup and called the waiter.
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3. He exclaimed with disgust that there was a fly in his soup and called the waiter.

4, He exclaimed with horror that there is a fly in soup and called the waiter.

Correct Answer :-
« He exclaimed with disgust that there was a fly in his soup and called the waiter.

22) Choose the option that substitutes the given phrase appropriately.

Action of getting rid of something
1. Sale

2. Disposal

3. Dismissal

4, Relief

Correct Answer :-
e Disposal

23) Read the sentence carefully and choose the option that has an error in it:

I did not understand their predicament until John explained me all the details of the mishap.
1. until John explained me

2. all the details

3. I did not understand

4, of the mishap.

Correct Answer :-
e until John explained me

24) Read the sentence carefully and choose the option that has an error in it:

Anyone who wish to participate in the competition may do so by tomorrow.
1. in the competition

2. may do so by tomorrow.

3. Anyone who wish to participate

4, No error
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Correct Answer :-
¢ Anyone who wish to participate

25) Change the given sentence to Indirect speech.

"I am reading a book,"” he explained.

1. He explained he will be reading a book.

2. He explained that he was reading a book.
3. He explained that he has be reading a book.

4. He explained that I am reading a book.

Correct Answer :-

» He explained that he was reading a book.

26) Fillin the blank with the most appropriate preposition from the options given.

I need some help my homework.

1. over
2. below
3. with

4, above

Correct Answer :-
o with

27) Choose the most appropriate determiner in the given sentence.

Amazon is considered to be the largest river in the world.
1A
2. This
3. The

4, An

Correct Answer :-
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28) Fillin the blank with the correct option in the given sentence:

An apple that has ripened to a soft stage may be said to be -ripe.
1. un--

2, over--

3. under--

4, in--

Correct Answer :-

29) Fillin the blanks with the correct options in the given sentence:

Carbonat-- water gives soda pop its effer--.
1. --ing, --ion

2. --ion, --ings

3. --ed, --ence

4, --ive , --ance

Correct Answer :-
e --ed, --ence

30) Choose the right tag:

You attended the meeting, ?
1. did you

2. didn't you

3. have you

4, haven't you

Correct Answer :-

e didn't you
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Topic:- Social Science (SSC)

1) Which organization has established the Financial Mechanism named 7he Green Climatic

Fund? | THE T A g3 wSAfe® e 74 o1 faxiiy el T #1 82
1. WWF / SsJgsqUh

2. UNEP / Ut

3. UNFCCC / QUAUHH IR

4. UNDP / guASIUl

Correct Answer :-

. UNFCCC / QuAuGHE!

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar?

/ 5T gAY AT 91 WeTgd A QWId) §9HR SR § TS WY Iarar?
1. Alexander / 3TIFI ST

2. Selucus / @W
3. Heliodorus / 8fcAISIRA

4, Demetrius/ aﬁw
Correct Answer :-

« Heliodorus / %’M@W

3) The main objective of setting up a social science library is: / AMHITS ﬁ'i‘l'lq JXddTelyg
RIS B3 BT GBI 39 H

1. For recreation and enjoyment / ARG 3R 3HE & feg

2. As place of preparation for competitive examinations / gfaah Tdensii &) dar & -H &
suH

3. To enable the pupils, engage in self-study and for reference / faenfiat o) - sieaa & Hery
HAT SR HaH & e gem s

4. As a common place for independent study / TId= ST & ﬁ;l'q U HIHY WliTg & =g H

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / faenffat o) w@-siema & Gy
HAT SR " & e gam S
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4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of
a particular group is known as: / dg JcdId St fret safea & FIG] Gﬁ'\’ ﬁw G| LGEEL
ot fasiy TE & T SR S T BT &

1. Criterion-referenced evaluation / qlﬁd@-ﬂﬂl“—hﬂﬂiﬁ

2. Formative evaluation / TN / [-TED Jj\cfi—licb"i

3. Norm-referenced evaluation /31fa (21 W

4. Summative evaluation / AN / FehaTeHD / 3ifdH Fedih

Correct Answer :-

« Norm-referenced evaluation /31fa X1 W

5) Milindapanho text is in the form of a dialogue between the king
Menander and Which Buddhist monk? / fuftiguss Ty e fiRveR ok fvg
gt fie] & St aratemy o1 qui 82

1. Nagasena / AFRH
2. Nagabhatta / AMHg

3. Nagarjuna / AIRTIGA
4, Kumarilabhatta / AR Hg

Correct Answer :-

- Nagasena / AT

6) A Commission to review the working of the Constitution was appointed by Government
of India under the Chairmanship of ./ HRd IIPR gIR1 B 3 HEdT |
TR & S &1 gHten & e v T e far mam AT

1. Justice Sabyasachi Mukherji / QTI'QH% BEIRICH H’@Trﬁ
2. Justice Ranganath Misra / :CITCIEET RUGIOREE]

3. Justice J. S. Venna/:m'qji[ﬁ@f.w. a4t

4, Justice Venkatachaliah / IITJ{% depe=raran

Correct Answer :-

« Justice Venkatachaliah / ?‘JTQH% Jeperaan

7) Topics of study suitable for the age, ability and interest of children are included in the
curriculum are known as ./ I DY 3T, &TaT 3R T & e Suged sreaa &
fawal @t ureampn & Wit far erar g, ¥ SeTem@ gl
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1. Topical approach / JTHRID GG

2. Unit approach / SIS PP

3. Spiral approach / Iftfa =P

4. Chronological approach / W%@ﬁm

Correct Answer :-

« Topical approach / JHH® HECA

8) Black money is also known as ./ BT YT BT & =g # ot S Srar

gl

1. Dynamic economy / TR Srfeae
2. Moderate economy / H&HH 3{ Rresrsnal)|
3. Parallel economy / JHMIAR a7
4. Stagnant economy / R srfoggw

Correct Answer :-

« Parallel economy / JHMIAR 3 Jogawyt

9) “Nature provides opportunities and human being make use of these” is central theme of
which of the following geographical philosophy. / "EIT% 3R UG Bt % 3R HHa
$IP1 SUANT HRal 3" Fa # ¥ for iifere =i &1 Fea v g

1. Possibilism / §HaATG

2. Marxism / HTGHATG

3. Feminism / TRIAIG

4. Determinism / fHafdarg

Correct Answer :-

« Possibilism / GHIdIG

10) In which case the Court ruled that nobody, not even the Parliament (through
amendment) can violate the basic structure of the Constitution? / &g gaaa O ey A
Haar faar i 15 o, ggi 9o % e (@@= & grew ) Sfau= » ga e &0
ST 51 B THdl 52

1. Minerva Mills vs. Union of India / et firey s yRd Ig
2. Mukti Morcha vs. Union of India / H@T At S99 HRd 99
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3. S. R. Bommai vs. Union of India / TY. 3R, SFs §-1H HRJ 99
4, Kesavananda Bharati case / mﬂ_& 'J-I'R?ﬁ SCRU)

Correct Answer :-

« Kesavananda Bharati case / 37—521_011‘_171r YR YRR

11) Who established the Indian Statistical Institute? / YR HiRkST®H T AT B RITYT
fra o

1, Jawahar Lal Nehru / STaTgR dTd A8

2. V.K.R. V.Rao /d6. &. 3R, d1. 39
3. R. C. Desai / 3%, T, éﬂ'l_g

4, P. C. Mahalanobis / o}, =, Ilglf*l:ﬁm

Correct Answer :-

« P. C. Mahalanobis / 0. Tft. AgTa-IS

12) Who can increase the number of judges if deemed necessary? / gfe maxa® GEEIRSIY
o <ardi=N @1 S-S 9 T IHhdl 62

1. President / Tl'gclﬁf
2. Chief Justice / G =TITER

3. Parliament / GG

4, Cabinet / AfFHsd

Correct Answer :-

« Parliament / 999G

13) Who is the exponent of Play-way method? / -3 fafyr & ufoures w19 82
1. Maria Montessori / JTIRET q'léﬂi
2. Friedrich Froebel / PSR Hldd

3. D.W. Allen / 1. €&, a1l
4. Jean Piaget /ST oSt

Correct Answer :-

« Friedrich Froebel / The R Thlad
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14) Who can create Vidhan Parishad in a State? / ITod ¥ fau= tlﬁ'qa' &1 i P #T
TP §2

1. Chief Minister / H@Iﬁﬂ
2. Governor / ISIUICT

3. Cabinet / HRAHEA

4. Parliament / T9g

Correct Answer :-

« Parliament / 93¢

15) India Gate was built as a memorial to the soldiers of . /'{%TIT AT Bl
& Tfrhl t Wfa & Th RS & &9 § G191 7497 AT

1. World War I /08d ﬁ'@'ﬂ?&'

2. Indo-Pak War 1965 / HRd-Ul® Y& 1965
3. Bangladesh War / SIITG R &

4, World War II / W ﬁW

Correct Answer :-

« World War I /98¢ favagg

16)  has the sole right to mint coins. / ¥ U Ria% e &1 THHA
PR B

1. State Bank of India / YR W db

2. The Reserve Bank of India / YR ﬂﬁl_qc%

3. The Commerce Ministry / iRy T

4, The Government of India / HRd TP R

Correct Answer :-

o The Government of India / HRd HIH R

17) is a community-based poverty reduction programme being implemented in

Kerala for the emancipation of women. / , CRL k| q%?lTGﬁ @I H%I’ F ﬁ'l'Q' Udh
M- T AR Sriwa |

1. Kudumbashree / W’}ﬁ
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2. Kudumbayogam / Wﬁf’m
3. Kudumbasametham / Wm

4, Kudumbavilakku / Wﬁﬁ*‘f

Correct Answer :-

. Kudumbashree / gra!

18) evaluation is school based and aims at all round development of the student. /

T T TUTRG § 3R BT & Faiivl faewr &1 da8a 2|
1. Intermittent / 3RS
2. Continuous and Comprehensive / ddd 3R SIS
3. Periodic / A&

4, Phase-wise / IRU[-d[X

Correct Answer :-

« Continuous and Comprehensive / Hdd 3R U

19) The members of the Rajya Sabha are elected for a term of WA KK &

TGN Bl __ & SIS & e g s 31
1. 6 Years / 6 Y
2.2 Years /2 @S
3.4 Years / 4 T

4,5 Years /5 GL

Correct Answer :-

. 6Years/63’5f

20) The Directive Principles of State Policy have been adopted from Constitution. /

TR F e s Ay s
1. Netherlands / FexclS

2. Swedish / WIS

3. Irish / START

4. Canadian / ST

Correct Answer :-
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« Trish / 3TN

21) The Pioneer of activity-based learning is J Tifafaf-smearia siftrm &
TYH AP gl
1. John Dewey / ST Sidl

2. David Horsburgh / sfas ﬁﬁaﬁ
3. Robert Slavin / UeC TG
4, Adam Wesley / USH BR|

Correct Answer :-

« David Horsburgh / Sfas Eﬁ’ﬁaﬁ

22) The emission of gas as a result of the greenhouse gas effect from various
agricultural activities causes negative impact to the society. / fafr q?f@f Tfafafer 3
AHETSH T & YHTT & IR T BT S aTaraRul IR
THRIETS YHTG STl 5|

[od

1. Chlorofluorocarbons / dﬂ-\N\IW\R\ldﬂ T

2. Helium / m

3. Nitrous oxide / 3 RIS
4, Ammonia / 3T

Correct Answer :-

. Nitrous oxide / T3CY RIS S

23) The technique for generating creative ideas and solutions through intensive and
freewheeling group discussion is known as ./ T8 3R wigiferT W?ﬁlf & TIH |
TIATHD fAaRT SR THIUT ST FRA DI PP DI & Y | AT A1 5|

1. Panel discussion / U=t T
2. Brainstorming / Q@Q“C’lﬂl

3. Dialogue / ¥dlq

4. Debates / dTG-fadrg

Correct Answer :-

+ Brainstorming / Q@QHGGI
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24) The Integrated Rural Development Programme (IRDP) was introduced in

/ T I d UTHIVT fIHRT HTAHH (IRDP) H 3Ry fomar 7 Tl
1. 1971
2.1973
3. 1966

4. 1978

Correct Answer :-

e 1978

25) Which of the statement regarding Barbara caves are true? / IREXT 'ﬁ(b'l'a'ﬁ F Y H

frafafaa 4 @ o1 YT a8l &2
i. These caves are the oldest surviving caves./ g ﬂ'q'ﬂf{ LGRS HTI_'ﬁ Shifad {[W\Q,' gl

ii. They were built during the reign of Ashoka. / ST®T fFHTUT 3RNF & ATATHTA | G
T

iii. They were dedicated to Ajivikas. / 4 3[SH{I®T I HHUT A1
1. All are correct. / gHT ﬂ?ﬁ % |

2. Only ii / b i

3. Only I/ Had i

4. Only iii / Pad iii

Correct Answer :-

« All are correct. / T4t Fl'é)[ % I

26) Which of the following has highest Albedo? / ARG & A fra®T Tt
(IHTRITIUT) T 3P a1 82

1. Fresh Snow / a5l igd
2. Sand / ¥d

3. Forest / d-

4. Dry Soil / @1 Tal

Correct Answer :-

e Fresh Snow / HI\‘:ﬁ%ﬂ



Which of the following was the main objective of first five year plan of India? / Frafafea#

T BT YRA BT UYH TIaug TS BT 7T I UT?
1. Service sector growth / @Tﬂ éﬂ_ﬂ ek

2. Industrial growth / 3N fawry

3. Agricultural growth / ?ﬁf fawm

4. Growth in manufacturing / fafmior & Rierg

Correct Answer :-

. Agricultural growth / &Y fdprg

28) Which commission identified 3943 castes as Other Backward Classes and recommended
27% reservation in government and semi government jobs and admission to educational

institutions? / frd SMANT A 3T fUB ST 97t & U 3943 Sferdl &) ugaH &1 3T
;@lﬁ@&ﬁwﬁ%ﬁﬁaﬁ?ﬁmwﬁﬁmﬁn%m&mﬁmﬁm

1. Kalelkar Commission / HTAART HTINT
2. Mandal Commission / H&d 3TN

3. Ramanand Prasad Commission / XTHTHG UG 3TN
4. National Backward Classes Commission / W@’q m Tif AT

Correct Answer :-

« Mandal Commission / HSd IR

29) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our

‘Republic’. / [T TRNYF H SHR UG BT adl YT HA & ¢, Uara-T A
HHTSTATS " RTeg I RATHA farar Im ATl

aford
2. 460
3. 48t
4. 44th

Correct Answer :-

. 421‘1(1
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Social Science exhibitions, fairs and cultural shows are meant to . / TTHTTS ﬁT\FI'FI'

Ugx, A 3R Fitplad PRI BT BT g1

1. provide a creative channel for learners /fQT&ITf?\-rFq-T & ﬁmw Yo olHdIHD SEK Tl b
2. show the talents of social science teachers / IS A Rrere! ot gfaHT fieam
3. increase the reputation of the school / ¥h el D1 ISt SMT

4. invite and entertain the parents / AT Y ST 3R FHT HARSH HRAT

Correct Answer :-

« provide a creative channel for learners /ﬁT&I’I’% %ﬁm@ ool qIHD ?HQ‘I UGTT hAl

31) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of

following processes? / ‘ﬁT&‘IT &1 PR fAua wr ﬁT&‘le DI I CIEEE:] f%fq, ﬁT&ﬁ‘T
Frafafaa 9§ e ufsear &1 U HRar 32

1. Shows a video clipping / Y difsar faaft feard %l
2. Gives a project / UNRITSHT (Toae) a1 B |

3. Conducts a discussion / T AT _OI’TQT'IT%I

4, Provides a problem / Uch JHIT gl

Correct Answer :-

« Conducts a discussion / TT TSI ST %I

32) The term ‘Civics’ in Social Science text changed to ‘Social and Political’ with the

recommendation of: /mmmﬁm% Glﬂff‘iftﬂ' RS QT Wa’ﬁ
AT R IeIfae & gaa faar - -

1. Secondary Education Commission / e 18 SmanT
2. NCF 2005 / TTRITTW 2005

3. Justice Verma Committee / <A1 Htlf Tfafa

4, NPE 1986/ Q:ldlé 1986
Correct Answer :-

« NCF 2005 / TTIITW 2005

33) “The central function of Social Science is identical with the central purpose of education i.e., the
development of democratic citizenship”, was stated by: /

"HTHTTT a9 BT SR ST RIe & Fara 359 & GUM g, IUid, Abdits
ARl o1 f[aerI, 98 1 gIRT o871 /T U1-
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1. James High/a'l-_\‘:[gric

2. I.F. Forester / 91.UW, 1%

3. John V. Michaelis / ST @I, Wm
4. Edgar B. Wesley / UST[R SIRCESY]

Correct Answer :-

« John V. Michaelis / SI-T a1, ATSh o1

34) In Vedic Era, Akhyani was the goddess of which of the following? /éﬁﬁ? 'EPT'EF « 3G

frafafea 7 3 forgst odt i
1. Forests / d-1

2. Rivers / Afeal

3. Fire / 310

4. Peace / ifdl

Correct Answer :-

o Forests/d-

35) The scaled-down teaching encounter in class-size and class-time is known as ./
P& P ATPR MR e & THg H Rrgor # e HHt &1, & = AT
EIGI§

1. programmed instruction /A A
2. micro teaching/Y&H Rraror

3. simulation /@I’H@Wﬂ (SIPR)
4. team teaching / T TRI&OT

Correct Answer :-

« micro teaching/G&H fRI&UI

36) Which of the following cities was the capital of India from 1772 to 1912? /
Frafafea 7 4 S aT e a9 1772 § 1912 96 HRd 1 AU UT?

1. Daulatabad /Eﬁﬁﬁlﬁlﬁ
2. Delhi / faealt
3. Bombay /aﬁ
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4. Calcutta / oDl

Correct Answer :-

o Calcutta / ddDhl

37) Ahmad Shah Abdali invaded India for the first time during the reign of which among
the following Mughal Emperors? / FafifEd gura aurel & @ e sma-oa ¥ 3gug xg
SGIE 3 YRT UR Ugell IR SIHHUT fomar 42

1. Ahmad Shah / 38Hq R

2. Muhammad Shah / gH¢ X8
3. Shah Alam-II / R ATAH-II

4, Akbar-I1 / HDH -1

Correct Answer :-

o Shah Alam-II / RMTg ATCTH-II

38) CCE stands for: / TS &7 Adad &:

1. Continuous and Cumulative Evaluation / Tdd iR Tl Hedieh (1< -0y TS FHafed

2. Continuous and Cumulative Examination / ddd 3R Tt udten W@W@Wﬁa

3. Continuous and Comprehensive Evaluation / Idd d¥T AfdaRT] b (mT—cnlrequ TS
i8I~ SdegR)

4. Continuous and Comprehensive Examination / Icd T fdaRor URI&T (Pl i-gad TS

Pl Ia TaelH-2H)
Correct Answer :-

« Continuous and Comprehensive Evaluation /WHWWW @J@WQ@
HIEIRRId 3aeYRM)

39) The exponent of theory of multiple intelligences is: /HE-EIﬁ‘HT Rrgr & ufaures
e g

1. I.P. Guilford / &1, U1, oIS

2. L.L. Thurston / Gd. Udl. YT

3. Howard Gardner / Evﬁé MR

4, Robert J Sternberg / (S o A
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Correct Answer :-

« Howard Gardner/ g\lﬁé ‘llé'_'lq

40) Branched programming is also known as: / Si<S TINRRT @ o= amm & oft ST Srar g1
1. Intrinsic Programming / 3{idiRe TrfET

2. Extrinsic Programming / BRI

3. Straight line Programming/ et ¥ g

4. Skinnerian Programming / =TT TrTfET

Correct Answer :-

« Intrinsic Programming / 3T TRITTH

41) The World Trade Organisation was established in the year . | fay =R Seq
P RITYAT a9 T gs A

1, 1995
2. 1991
3. 1994

4. 1989

Correct Answer :-

o 1995

42) Which of the following is not a characteristic of Palaeolithic Age? / Frafafea o
" HIF-3 QRIUTHTT HTe B TP fa=iwar =81 82

1. The Paleolithic also used microlithic stone tools. / GRTYTHTOT ﬁ?ﬂZIT-‘ZTﬂ'CI TRR & 3okl &1 off
AT R U

2. During the Paleolithic age hominids grouped together in small societies such as bands./

TRTUTYON T & SR BIHFEY §8 S B JHTS! § T 1Y Tga< U

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time
humans also used wood and bone tools. /WﬁﬂWW% SISTRI & SUTIT
I UG ST 8, BTaifh 39 JHY HFd dda! 3R 831 & SMoRI &1 Ht ST &vd U

4. They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ G

Qe ) SHGT B 3R TS ThSHR, FRABR FHRep I AR U ST SIaR] Pl W Shifad
RO

Correct Answer :-
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- The Paleolithic also used microlithic stone tools. / GRTATSTOT JEHTIHIT TR & 3SRl BT+t
ESEIGERGRY

43) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 ? / 1191 Gﬁ? 192§

TR & G5 | WigHg MRT T GHIaar foa- fowar 2
1. Lakshmana Sena / T&HOT I

2. None of them / 375 ﬁﬁgqﬁf

3. Jaichand / SITdq

4, Prithvi Raj Chauhan / 23} Il g

Correct Answer :-
« Prithvi Raj Chauhan / qea?w 1_'jlgl'_‘l
44) CANCELLED

When farmers sell a portion of their agricultural goods in the market, it is called ./

o9 fFaM, ek # Sru-l HY agsil &7 ue e sua &, 39 CaA RS IGIN
1. Marketed surplus /ﬁ'clﬁl?f SRy (ngr; 3 W)

2. Marketed output / fauforg IareH
3. Surplus goods / SR AT
4, Total output / Pl Sl

Correct Answer :-

« Marketed surplus / faaftrg 3Ry (Iﬂﬁg AR )

45) Literacy refers to: / HT&Rdl T dTead 3 %I
1. Reading only / $had m

2. Speaking only/ FHad dia-

3. Writing only/ Had fera

4. All of the above / STRIa Tt

Correct Answer :-

« All of the above /mﬂ‘l—ﬁ
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During the reign of which ruler of Bahmani kingdom was the capital shifted
to Bidar from Gulbarga? / FEHA IS & {5y e & M hTd & IR
ST A I TR ARG B & Tt 02

1. Ahmad shah / 3[gH<q Rl
2. None /E:Iﬁﬁmq_ﬁﬁ

3. Aluddin shah / 3¢ Bé|:| QUTe
4. Vira shah / Ta_1 QT

Correct Answer :-

o Ahmad shah / 3{gHq R0g

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta

Malaya'? / faSTaTR G199 & {69 IRIS A T URIE T80 "sqdar aa fordt 02
1. Harihara / Bﬁ—b'?

2. Dev Raya II/ CCRIh|

3. Dev RayaI/aHTRJI

4, Krishna Deva Raya / WT&H R}

Correct Answer :-

« Krishna Deva Raya / W T

48) was the committee constituted on ‘Revitalisation of Panchayati Raj

institutions for Democracy and Development’. / AP R fapTa & %’E Tl IS
TRIT3N F TRIGR W gt o1 e+ far v arl

1. Ashok Mehta / 3D aEFIT
2.G VK Rao /Sl df & X
3. L M Singhvi / U@ TH Rigdi

4, Balwant Rai Mehta / Seldd 3G J?Iﬁé('ll

Correct Answer :-

. L M Singhvi / T T Rfudt

49) Which ruler defeated Harshavardhana? / f&a 9@ A gdat= &1 gxmam?
1. Vasudeva of Chahamana Dynasty / Eilélq (TTgHM ) 9= & am%a
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2. Nagabhatta I of Gurjara Pratihara Dynasty / !!\_rk UigR d% o ANTYHS UYH
3. Pulakeshin II of Chalukya Dynasty / TRl < & Hﬂw IEG
4. Shashanka of Gauda dynasty / Tﬁg 4 & ARMP

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / TRl 9T & ﬂﬂw fgard
50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

FrafifEa gearsll ot 39 STawd & HH § TafUd He:

1. 3 U9

2. QAT AT

3. TRIRT MredS g

4. FEraT Srigier

1. 1-2-3-4

2.4-3-2-1

3.2-3-14

4,4-2-3-1

Correct Answer :-

. 4231

51) During the integration and merger of states after India’s independence, the Government
of India rejected the farman of which State’s ruler? / HIRd P TG & 91C ISl B
THIHT 3R I & G, URA RPR 7 fohd T & AP & BIA D SRATDR
o faar?

1. Raja of Kashmir / HRUR & T
2. Ruler of Travancore / AU R b QT

3. Ruler of Junagarh / S[1¥ @ & D

4. Nizam of Hyderabad / %C&IGIIQ CARSIE
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Correct Answer :-

« Nizam of Hyderabad / 8GXTSTE 3 {7

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque

on a crumbling bank”? / Wmﬁﬁﬁgﬁﬁﬁmmwﬁwﬁﬁ%"wmaﬁ
ARRA BT A YT, o1 §& 95 g1 arar 411?

1. August Offer / ¥ U9

2. Communal Award / GG URRh IR
3. Government of India Act 1935 / HRd TRBR SHUTH 1935
4. Cripps Mission / Tt TH=RM

Correct Answer :-

« Cripps Mission / Tt =M

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus?

/ fassdl TR 9 UoR 9 FRafefad 4R/ & ffa R\ IR a1 & 9odr &2
1. Intermontane Plateau / 3[dRTUdd1T TSR
2. Dissected Plateau / fa=fed UsR

3. Volcanic Plateau / SATAT@T SR

4, Continental Plateau / na‘g?rﬂ?: UoR

Correct Answer :-

. Intermontane Plateau / IcRTUAAIT TSR

54) Stream flowing in the direction opposite to the original consequent slope is known as. /

TR gadl ea & fqudta oz & yarfea 4R &t 9 & &0 & 51 Sran 21
1. Obsequent/‘il?qﬂ_d?ﬁ
2. Resequent / qfflf]ﬁl?ff

3. Sunsequent / Hﬂﬁ?ﬁ
4, Insequent / 3fehHadl

Correct Answer :-

« Obsequent / Wﬂﬁ?ﬁ

Page- 59



55) What percentage of the world's volcanic activity occurs within the oceans? /oy ot

aTarg@! fafafy o1 e ufaxa aerrRt & War g g?

1. 40%
2. 50%
3. 70%

4. 90%

Correct Answer :-

¢ 90%

56) Which of the following is the largest mangrove forest in the world? / Fafafead

o fay ¥ e ST AU a1 52

1. Greater Antilles Mangroves, Cuba / Py Qﬁﬁﬁf ﬁ'?:l‘la’, RdT

2. Sumatra Mangrove forest, Indonesia / gHTAT g d-, s@ﬁfﬁm
3. Bahia Mangroves, Brazil / aT%tn ﬁﬁa, EISIN]

4. Sundarbans Mangrove forest, India / w ROl d-, HRd

Correct Answer :-

« Sundarbans Mangrove forest, India / J&ra g d-, HRd

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / el AR Ty

ue U1 H fory At W 9T TR B2
1. Narmada / THET

2. Tapti / TG

3. Son /9

4. Chambal / Idd

Correct Answer :-

o Chambal / dd

58) Guantanamo Bay is located in which country? / qdTETH @'Ié’f feawd R %?

1. Cuba / Hdl
2. Haiti / &l

3. Bahamas / delHNY
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4. USA / 3™ BT

Correct Answer :-

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? /
fafafaa ¥ 9 fow woa | dgir-dain sadsy fierd fRua g2

1. Arunachal Pradesh / 3B UTTIST UG

2. Manipur / HfOIQR

3. Assam / 3HH
4, Sikkim / Fifdma

Correct Answer :-

» Arunachal Pradesh / S>UMTAA m

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the

following countries? / Frafaaa o 3 fea 3= 9 Jier 91dt, fay &1 999 g1 TR &
a9 frafar fRua 82

1. Japan / SITUTT

2. China /

3. Australia / H@m
4. Germany / e

Correct Answer :-

« China/ iG]
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